
A

B

C

C

A B C

1 1 298/108/128x75x4 98/108/128x50x4 200x22x2

30' 1

Keep out of reach of 

children. Small parts. 

Choking hazard.

1 2 3 4 5 6

2/3 3/3 1/3

Aufbauanleitung Massivholzbett "Livello"
Instructions de montage du lit en bois massif « Livello »

Montagehandleiding massief houten bed "Livello"



 5 

A

D

D

D

D

E

E GC

x2

E

EG

E F G H

8 8 4 115x17 M10x10, ISK5 10x50 Sw5
1

810x48.5, M6x11

D

410x48.5, M6x11

D

2

4

G

815x17

E

10x50
1/4



D

D

B

D

D

A

B

B

410x48.5, M6x11

D

4

2/4

3



F

F

H

x2

B

1Sw5

H

4M10x10, ISK5

F

5

3/4



F

F

x2

4/4

H

1Sw5

H

4M10x10, ISK5

F

6


	Page 1
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Detail View  (1 : 5)
	Drawing View8
	Drawing View9
	Detail View  (1 : 6)
	Drawing View11
	Drawing View12

	Sheet2
	Drawing View13
	Detail View  (1 : 5)
	Drawing View15
	Drawing View16

	Sheet3
	Drawing View17
	Detail View  (1 : 5)
	Drawing View19
	Drawing View20
	Drawing View21

	Sheet4
	Drawing View22
	Detail View  (1 : 5)
	Drawing View24
	Drawing View25
	Drawing View26




